
0 10000 20000 30000 40000 50000
sum

0

50

100

150

200

250

300

350

3
10×

Run 4579 triggerwise, sums: All

Entries: 2769323

Mean: 4406.6826 +/- 2.6046

Std Dev: 4334.4543 +/- 1.8418

Run 4579 triggerwise, sums: All

0 2000 4000 6000 8000 10000 12000 14000 16000 18000 20000 22000
sum

0

200

400

600

800

1000

1200

1400

Run 4579 triggerwise, sums: Beam OFF

Entries: 8835

Mean: 1171.1360 +/- 9.9036

Std Dev: 930.8830 +/- 7.0029

Run 4579 triggerwise, sums: Beam OFF
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Run 4579 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 787562

Mean: 5189.6719 +/- 5.7888

Std Dev: 5137.2946 +/- 4.0933

Entries: 787968

Mean: 5195.5306 +/- 5.7940

Std Dev: 5143.1615 +/- 4.0970

Run 4579 triggerwise, sums: Beam ON, Laser ON
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Run 4579 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 578058

Mean: 3358.4104 +/- 3.3513

Std Dev: 2548.0350 +/- 2.3698

Entries: 577988

Mean: 3366.4367 +/- 3.3454

Std Dev: 2543.3274 +/- 2.3655

Run 4579 triggerwise, sums: Beam ON, Laser OFF
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